petal length (cm) <= 2.45000004768
error = 0.666666686535
samples = 150
value = [ 50. 50. 50.]

petal width (cm) <= 1.75
error = 0.5
samples = 100
value =[ 0. 50. 50.]

error = 0.0
samples = 50
value =[50. 0. 0.]

petal length (cm) <= 4.85000038147
error = 0.0425330810249
samples = 46
value=[ 0. 1. 45.]

petal length (cm) <= 4.94999980927
error = 0.168038412929
samples = 54
value=[ 0. 49. 5]

sepal length (cm) <= 594999980927
error = 0.444444447756
samples = 3
value=[0. 1. 2.]

error = 0.0
samples = 43
value=[ 0. 0. 43.]

petal width (cm) <= 1.54999995232
error = 0.444444447756
samples = 6
value=[0. 2. 4]

petal width (cm) <= 1.65000009537
error = 0.040798611939
samples = 48
value=[ 0. 47. 1.]

sepal length (cm) <= 6.94999980927
error = 0.444444447756
samples = 3
value=[0. 2. 1]

error = 0.0
samples = 2
value =[0. 0. 2.]

error = 0.0
samples = 1
value=[0. 1. 0.]

error = 0.0
samples = 3
value =[0. 0. 3.]

error = 0.0
samples = 1
value =[0. 0. 1.]

error = 0.0
samples = 47
value=[ 0. 47. 0.]

error = 0.0
samples =
value=[0. 0. 1.]

error = 0.0
samples = 2
value=[0. 2. 0.]




